Hog =% (cog-1) 5% - 50
Bxty wlixgt N
‘K""%("‘g*< d ,,,3 237 ()

A2y -
=) g)«rtg_(:gk 22‘ 2.) -
(*‘**23 /l) = O

FJQD* O: ‘3(:&%&&
Faﬁaakéd Eﬂ% =0: =) »- 23( o -=>7>.—~/( |

F"'&’ ‘é{éo "3?3& 23 Z O

> - 2—3 -4 =D

=) 3(23*"()"va2. sz, "‘"/l =0 =) 3:1%

Stonae Adeles (0g) ge R (a0), (4 -4)

Gy~ -2 25 =lfxy -2
M*%x H&(MU)-’%L ,: O , 4 : o =F
- | 3>< *Lf*?;'_‘z_x -2 5%

4 .4 “%- %15 Hek-a L %
# (1Y Hy(s,-4)- R B

Lt -4/ \% %

S



ol Hyleoh= (35 )< (1)

ook H{(&OL_-}( ?0 | “7 Hj(/(a}
=) 5&%@/\1 Z« (Ao)
*,QLZ-L Hﬁ(% (1‘3 Ly :) o

-.-»)a(wé'l‘( (Q ) =0 = H"?ﬂ— Hafw)( ; s, "(jﬂ«o
- &Lﬂ%&% M::‘K L

S shlid o el o) =x'y ()

%'“(mv“&mwaém %ﬁﬁ‘f‘\%g&&m

‘ ;gg(/{% 4. (3)=#3

———:%—Z—O‘ (0(3 ‘o‘l' H"’X\M
b 4"31_.0 (0‘3)

b Koo,




